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QUESTION 1

A Lecturer hypothesises that there would be a difference in the performance of students taught
using the traditional lecture method and those taught using computer programmed method. She
then divided the class into two (2) groups of ten (10) students each and taught them Research
Methods and Statistics using the two (2) methods. She then tested them at the end of the semester
and obtained the following results:

Lecture  Group | 65 |60 85 80 |55 60 50 75 190 |40
Scores '

Computer Group | 80 100 100 | 50 70 80 70 70 70 30
Scores

(a) Name and state the hypothesis the lecturer was going to formulate.

(3 marks)
(b) For each set of scores, compute:
(i) the mean (5 marks)
(ii) the variance A (10 marks)
Given that a
| Xi=X3
2
t = s sh -
——— + —
N, N,
6] Find the t value for the variables. (10 marks)

(ii) Deduce degrees of freedom from the above information. (5 marks)
(iit)  Find critical value of t for a one-tailed test at 0.05 significance level from the
- statistical table attached at the back.

: (2 marks)
(iv) What conclusions would the lecturer reach? (5 marks)
UESTION 2
Giving examples where applicable, differentiate between:
() Nominal and ordinal scales. (10 marks)
(b) Parametric and non-parametric statistics. (10 marks)

(<) Statistic and statistics. ' (10 marks)



QUESTION 3

(2)

Complete the following frequency distribution table.

Class Interval Frequency  Exact Upper Limit  Mid-point Cumulative

1-4
5-8
9-12
13-16
17-20

Frequency
2 - - -
6 - - -
3 - - -
2 - - -
4 - - -
~ (15 marks)
(b) Find the mean for the above grouped data. = (5 marks)
(c) Is it possible to draw a bar graph from the above data? Explain your answer fully.
(4 marks)
(d) State two (2) major differences between bar graphs and histograms.
(6 marks)
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Alf values calculated by the
authors of this text.

Table A1.2: t-table - values of the t distribution for varying
A degrees of freedom (df} and a
\\
- "

o for two-tailed test 0.001 0.01 0.02 0.05 0.1 02 0.3
o for gne-tailed test 0.0005 0.005 0.01 0.025 0.05_ 0.1 0.15
; ! $636.5776  63.6559 318210 127062 63137 30777 1.3626

N 31.5988  9.9250  6.9645 43027  2.9200  1.8856  1.3862
VAR 12.9244 58408  4.5407  3.,1824 23534 16377  1.2498
/ 5 8.6101  4.6041 37468 27765 21318 15332 1.1896
N i 6.8685 40321  3.3649 20150 14758 1.1558
- o Ened 59587 3.7074 31427 46 1.9432 1.4398  1.1342
54081 - -3.4995- 28378 23646 18946 14149 1.1182

50414 33584 28965  2.3060 T‘% %95 13968 1.108%

-4.7803  3.2488 28214  2,2522 18331 13830  1.0997

45868 31683 27638 22287 1.8125 13722 1.0931

44369 31058 27181 22010 17959  1.3634  1.0877

43176 3.0545  2.6870 21788 17823 13562  1.0832

42209  3.0123  2.6503 21604 17709 13502  1.0795

43403  2.9768 26245 21448 17613 13450  1.0763

40728 29467  2.6025 21315 17531 - 13406  1.0735
40149 28208 2.5835 21189 17453 13368 10711

3.9651  2.8982  2.5669 {098 17336 13334 1.0690

39217 2.8(84 25524 21008 17341 13304  1.0672

- 3.8833  2.8609  2.5395  2.0930 17291 13277 1.0655

E 3.84956  2.8453  2.5280  2.0860  1.7247 13253  1.0640

z 3.8193  2.8314  2.5176 20796 17207 13232 10827

a 17922 2.8188  2.5083 20733 17171 13212 10614

¥ 3.7676  2.8073 24998 20687 17133 13185  1.0603

- 3.7454 27970 24822 20639 17108 13178 10593

54 3.7251 27874  2.48517 TLOEES 17081 13163 1.0584

] 3.7067  2.7787  2.4786  2.0555 17056  1.3150  1.0575

§ 3.6895 27707 24727 20518 17033 13137 1.0567

a 36738 27633 24671 2.0484 17011 13125 1.0560

3.6595 27564  2.4620  2.0452  1.6981 13114  1.0553

3.6460 27500 24573 20423 1.6373 13104 10547

3.6335 27440 24528 2.0395  1.6955 13095  1,0541

3,6218  2.7385  2.4487 20369  1.6939 13086  1.0535

3.6109 27333 24448  2.0345  1.6924 13077 1.0530

3.6007 27284 24411 20322 1.6909 13070  1.0525

35911 27238 2.4377 20301  1.68%6  1.3062  1.0520

35821  2.7195 24345 20281 16883 13055  1.0516

3.5737 27154 24314 20262  1.6871 13048  1.0512

35657 27116 24286 202 16860 13042 10508

35581 27079 24258  2.0227 16843 13036  1.0504

3.5510 27045  2.4233 20211 1.683% 13031  1.0500

35203 26896  2.4121 20141 16734 13007  1.0485

3.4960  2.6778 24033 20086 16759 12987  1.0473

34765 26682 23961  2.0040  1.6730 12971 1.0463

3.4602 26603 23901 20003  1.6706  1.2958  1.0455

33905  2.6258  2.3642  1.9840  1.6602 12901  1.0418

33002 25807 23301 1.9623  1.6464 12824  1.0370

Al values calculated by the authors of this text




